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HEELT = 1 150, 141, 762
HRHEI T = 1 97, 890, 445 | I 46, 690 m3
o =7 iy EEM 5, 000m3LL E
A 18, 060 m3
a7 /hyh BEERE
i LB 18, 060 m3
FEIA O=27) 1 =X
+1 &850, 000m3LL L ;
FEIA O=27) 1 =X
s 850, 000m3LL E ;
P T (ICT) =Y 1 4,377,840 |HEH!I (ICT) 14, 800 m3
W A7 iy b BEESE L 10, 000m3 LA 50, 000m
AT ;
Rkt A = 1 11,683,000 |JEHEIEETE (H)LH6) 3, 500 m2
BGHRE WL S 1L, RS s
BT T (ICT) = 1 1,616,756 |{EMEEETE (G) L) (ICT) 560 m2
VY = W R OWSE = CREPE L
TEHEFETE (8] 1356) (ICT) 1, 140 m2
AT
P v T = 1 34, 573, 721
IR = 1 50, 210, 047
fliAE T = 1 32, 550, 410 | A AT IR AT 180 m2
3em AEAEFLAIRAT T 1000m28L £
A B4 IR A 2,370 m2
Sem AEZAEFLAIRAT T 1000m28L £
A B4 IR A 2,120 m2
Tem FEAEFEMWAT T 1000m2LA L ;
FE Ay b 540 m2
FtAzvy b T 500m2L4 F1000m2 K ;
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100m3LA _-200m3 K75 ;
Himgk 115 m
W=300 ;
HNHEAK 20 m
VP ¢ 50 ;
7 V=Mt 41 N
SHEBRE AT
BRAGHEA T = 2,781,200 |ZJEMK 41 #
CI910mmFRE X 55mm V477" 72Fy ) RUMNT 5% [EAR
ERABIEA 137 m
SD345 D19 HIfLE 3.35m I HIFLICET 2 Bk
DA TTRE 100mEL_E200mATH ;
PiERE T X 6, 056, 790
E¥+T X 846, 024
ST FTBERE 1T (R &) HALAT) =X 4,685, 581 | MTHUERE 64 m3
(1 B THIHERE)
24-12-25(20) (&JF) ;
HEKb 3R & 21 m
W=300 ;
=N 11 m3
18-8-40 (FJF) ;
R = 525,185 |av/)-} > m3
24-12-25(20) (&JF) ;
P 1 2
— P
7331 0. 49 t
SD345 D13 ;
i53i0) 0.33 t
SD345 D16~25 ;
H bR 0.8 m2
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-7 my)FE (3R T = 12, 586, 015
VAR VARV RN EVZA I VAR PYZ ) = 12,586, 015 | BItE 4T HeptEay ) -} 61 m
(15 RAYT" ny) HaRl)
18-8-40 (B JF) JEEHE 95cm B S 25cm ;
K7™ vy ) F 291 m2
(15 KA vy ) FE)
P2 53T ;
JA - B3Rz 7) =] 44 m3
18-8-40 (B JF) ;
A - BEARS (W) 147 m3
FARAG RC-40 ;
Bl HT Ruiav - 15 m3
(15 Rgavy)-h)
18-8-40 (&)
HEKHEEY T = 6, 354, 506
e+ T 2 369, 691
AR T = 1,319, 151 |7° VEyA MBI 103 m
(PU1-B300-H300)
7" Vv A NUBRMAITE: 34 m
(PUL-B300-H300) %435
LKk vt T = 358,960 | BUGFT HAE KM 4 & AT
(155K )
BUGFTHS 18-8-40 (5FidF) TATRIVEZEAM IE 2
= 4 e
(5 HEEa )
800X 800 t=3.2 HDZT49 ;
HEAKT = 4,306,704 | /1NERHEZK 298 m
(KH-1-1)
/B HEK 102 m
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(157N HEAK)
BT T = 1 1, 268, 368
B 1A T = 1 1,268, 368 | F:AE7 ny), SR LR 58 I
(BRI FLAED)
4% FLRE STK400 ¢ 101. 62X 3. 2X500 ;
&8 - 3AE (ST NBE 1R 109 m
(SZABA 1EATEA)
2mLL T 2m ;
A Y 1 156, 000
AEEH L Y 1 156, 000
[ERAE Xy = 1 226, 773, 488
IR 2 1 27, 249, 228
BISTIGE: = 1 6, 182, 228
TERE 2 1 3,059, 500 |t RR AR E MR H 1 =
BRGNPy 1 =
HeffrE sy = 1 727,728 | {RSFEER(ICT) 1 =
YATLIE 2 (ICT) 1 F2V
B R AT -MERE 1 =
R 2 1 513,000 |k HEEHE 1 =
BGRESCGES (5 1) = 1 1, 882, 000
B (FEHL) = 1 21, 067, 000
T = 1 254, 022, 716
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e R E20 1 75, 630, 000
T AT 2V 1 329, 652, 716
— e PR E20 1 47, 987, 284
Tk 2V 1 377, 640, 000
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